
PSfrag replacements

PROBLEM:
An LTI system has impulse response given by

h(t) =
10 sin[200π(t − 0.001)]

π(t − 0.001)
.

(a) First make a detailed and accurately labeled sketch of h(t). Mark the important amplitudes and time
locations of peaks and zero crossings.

(b) Now determine the Fourier transform H( jω) of this impulse response; i.e., H( jω) is the frequency
response of the system. Make detailed plots of |H( jω)| and 6 H( jω) versus ω. Label your plots
carefully.

(c) What is the time delay of this system?
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